Avondlx A
T

ll'_’n ,/,l Argumel Md&ﬂ%@ﬂ:ﬁw&%\
4;‘1/,,

" 0), let X I [{)mvrf Apoe | ,M/t],.ﬁ |

M4 Tfa:fh.m_pmm{s),

s

i h a4 / ), AN L. A 2, 10T, 06 Alinim /3 dug.
/Wlu(ﬁ{’ A,An nﬂM /I ), DT ,I/ ,b_l_',’lf,m/),A g‘).




T

ey Stpanalion bohoe AhMM@@& -

Ty MMMM#MMM X by

v A& aml A’?f A, mm@ oy A 0t'm&=

o = mbit of il (50 G

AB= 9 sim (o) A8 = 2r sim (3x)
\2/ w \Z
B AR gy = P o w) gl
A P i il
i Y
She e 2] /
az’"fvzt@i\ = ———3~ h
2 4-
.B[df e\ 4 g, .
V3T 80 0 caw onid g o 0 VAS
~1,0.4,2,2
frn=-1, =+ [2-4l]] \) ’
o ( |
nrn=0, X=18 T3 HiT [ "R
Cor mod - S ksl Axes
=4, 0(:-'1—’-2’) 14-'-{”“._] m (»flm&ﬂ)__é%ﬂlﬁ‘_
for =2, y=41T I/ 1 — /A
‘Eﬂ /nﬁrg ) ®={ gr l'IIT [ Z.Lr‘l:l,léﬂ.li_]




